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PART—A

( Business Mathematics )

( Marks : 32)
1. ¥% @ S5 o e 1x3=3
Write True or False :
2 y 2 4
B=
(@ 3IfMA= ( 3), (6 3)WA B, (53

x=4, y=2.
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(2)

~ -

2 y 2 4
IfA-(x 3)’3_(6 3JandA-B,then

x=4,y=2.

®) M fix)=|x], B f(5) = f(-5).
If f(x) = | x|, then f(5) = £(-5).

(c) =R 3% TI® 250 HFF 18 W I o XA
1125 &

Simple interest on €250 at 3% p.a. for
18 months is ¥11-25.

2. Tfi A=[: Z] e I=|:é_ (1)] WS @

A? —(a+d)A = (bc-ad)L

Y

3
a b 10 '
= d I= h
If A [c d] and I [0 l]’ show that
A? -(a+d)A = (bc-ad)L.
011
3. |1 0 1|, coww A~ ey == 6
110
011
If|1 O 1} then calculate A1,
110
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. T MY = (x+y)™ ", OB RS @
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(3)

5T/ Or
' 3 1
PR 7 R ﬁwmﬁA=[_2 o]“"
(08 oW I T A2 -3A+21=0. 2+4=6
Define square matrix with example. If

31
A =[ o 0], then prove that A2 -34+2I=0.

. T flx) =2x2 -3x+1, 5@ f(0), f(2) F f(-3F

= g T 3

If f(x)=2x2% -3x+1, then find f(0), f) and
fE=3).

x e

Ifx™y" =(x+y)™*", then show that

gl& gle
[]
% <

&1 /Or

"42
i y = 108X oty LY 3 qm ffy 1 |
x dx?

2
Ify= log X then find d_g
x dx2
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(4)

-

6. Rym e 93 PR <RI IR 8% vafa TI©
fefRaT =, 3ficz o 7R ~Remy s/ 7% =2

In what time a amount of money triples at
- 8% (p.a.) compound interest if iriterest is due
annually?

7. Wﬁﬁmqmw 2,000 B3 3 323 ©F© 2,315
T W, @A v e =R A w1 w2

At what rate of interest p.a., ¥ 2,000 will be
~ 2,315 after 3 years when compound interest
1s calculated yearly?

PART—B
'( Business Statistics )
( Marks : 48)

8. A IR [T 0 : 1x5=5

Fill up the gaps :

(@) b1 IR SRIFAR _____ TR BT W |

The geometric mean is the of the
product of n items.

() = ot — oo

= Maximum value - Minimum value.

-
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(S)

(c) B! SORIMR WSS TTw SIINA o
3 e AT |

The coefficient of correlation between two
variables lies between and

(d) TRF TH <1 Rew @ |

Index number is a special type of .

(e) PR AN T T 51 TR

Flood in Assam is an example of
time series.

in

(a) SR (b) TR Teg 791 :
Answer either (a) or (b) :

(@ () oo fta SR [/ IS Wefg 0 3
Calculate mode from the following :

5,2,2,3,4,4,1

(i) <1 TegE TR eTOR W AR AR
aRERee foren 4 5

oM
State the requisites of a gobd

measure of central tendency.; "\, 4
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(6)

(iii) . were it Rereem amifde Reem g wa1: 6
Calculate the standard deviation for

the following distribution :
sev (™) : 100-110 110-120 120-130
Weight (kg)

- IF[EET 8 10 20
Frequency ‘
oo (%) .: 130-140 140-150 150-160
Weight (kg) ~
T e : 12 - 7 . 3
Frequency
‘ {1 /Or

M) () REIR /Y 9F = TR adE 7

YA | -3

Distinguish between absolute énd
relative measure of dispersion.

(i) =TS fr U o[ TodF Reerr qw Aefa
41 : 5
Calculate quartile deviation for the
following data :

T (5ro) : 230-240 240-250 250-260
Wages ) C
ARG ;8 20 40
No. of Workers
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(7))

799 (5F1) 1 260-270 270-280 280-290
Wages () ' .
EXiE Rl ;18 10 4

No. of Workers
(i) e gl SYRMI [ T PR =T
209 *eIE A 741

Calculate the third decile and 20th
percentile from the data given

below :
big] : 0-5 5-10 10-15 15-20 20-25
Values . | _
J{RI_ET 7 18 25 30 20
Frequency

10. (a) 93T (b) &R TeY W ¢
Answer either (a) or (b) :
(@) (i) R RN A F w2
What do you mean by regression

equation? o
(@) TR, Ll AR
AR 8X-10Y+66=0 &

40X -18Y =214. X WF Y3I o0
QNI T Fefg 77314

Given the = two regression
equations 8X-10Y+66=0 and

40X -18Y =214. Find the coefficient
of correlation between X and Y.
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(8)

(i) oo i SURER {1 TSR QR T
fAda w11 :
Find the wvalue of correlation

coefficient from the data given
below : ’ '

x : 46 54 56 56 58 60 62

y : 36 40 44 54 42 58 54

531/ Or

(b) () ©N9IN , TETTH IR TR 72 PR

Frrey Y |

Prove that coefficient of correlation
is the geometric mean of the two
regression coefficients.

(i) O ERIA XSF Y r =060, X% Y3
PRI Fe 225 WF 400, X =10,
Y =20 T@ XI ACCF YI AR
e Sferea |

For a bivariate data of X and Y,
variance of X and Y are respectively
225 and 4-00, r =060, X =10 and
Y =20, find the regression equation
of Yon X.

(9)

(iii) ©=Te fem SURFT /1 IS ST |

X
Y

a1 - 6
Calculate” the coefficient of rank

- correlation from the data given

below :

80 78 75 75 68 67 60 59
12 13 14 14 14 16 15 17

11. (a) 9T (b) K eI 90 ¢
Answer either (a) or (b) :

(@ ()

(i)

M 2009 B PEAS 2019 WI T
TPIRF 210 W, ¢ G& 27 2009 T
TR ww 10,500 B W, (@ 2019
5T e TRA v Ry 'Iama? 3
If the price index number for the
year 2019 compared to 2009 is 210
and the monthly income of a person
in 2009 be ¥ 10,500, then what

should be his monthly income in
20197

T8 SIS AT I AT 2RTe [FET
e w2 =, o 5

Write how trends in a time series are

measured by the method of moving
averages.

Continued
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(10) (11)

-

(i) e oy acma FR (ST @ RV (ii}) Wﬁgﬁ;ﬁf*’mwwﬁﬁ@ ]
PR BeoS Afecam AR PrEeE: 6 TS :
Using the following data, show that | From the data given below, find the;
Fisher’s index satisfies factor trend values by using the method o
reversal test : least squares :
AR RS sPre 7 I : 2001 2002 2003 2004 2005
Items Base Year Current Year : Year ) |
o) | ARme | gmeee) | R R# : 100 120 140 160 180
Price (in ¥) | Quantity | Price (in ®) | Quantity A Sales
A 6 50 10 56
B 2 100 2 120 .
C 4 60 6 60
D 10 30 12 24 ]
E 8 40 12 36
%31/ Or

(b) () F= AR ReETs eI @[ ks o
wor fomim o 3
Explain two mathematical models
usediin the analysis of, time series.

(ii) mﬁﬁ‘!w MM R SR cvae
orices Rfen =7 Sy w41 5
Mention the different uses of index
number in the study of finance.
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